ooooogoogo

goboo

ggi180120 210

0 O

1 00000000 3
1.1 O0000 . e 3
1.2 0000 ... 0 e 3
1.3 00000 ... e 5

2 000000 6
21 OO0 .o 6
22 000 .. e 6
23 00 . e 7
24 000OD0O0O0O0O0O ... 00 oo 8
25 0000000 OO0O0ODOO0O0O ..o oo 11

3 0000OO000000DO00O0 14
3.1 00000 ..o 14
3.2 OO0 .. 15
3.3 000 ..o o 18
34 00000000 .. ... oo o 20
3.5 000000 .. 24
3.6 J0O0OO0ODO0O0O ... o oo oo 26
3.7 0000000 ... 0o s 27
3.8 ODO0O0O000O00000 .« ... .. ... 27

4 00000000000 29
4.1 ODOO0O0O0OO0O00 ... oo e 29
4.2 OO o 31
43 OO o 32



5 OUOooooobo-obooo- 36

5.1 O0OODOO ... o e 36
5.2 OO ..o e 36
9.3 OO0 ..o e 37
5.4 O0OODOO0O0O ... 38



1 ODoooooon

1.1 OO0oon
00 1100 A0DD0O0OODODOODO Xpooooo
AX=XA=F

000000AOO00OO0DOOO0DOOOXOO0OD0OO0OO0O000 A-'0000

oo 0uogggoooo

(proof)
ABODODODO A-L,B'00000ABOOOO B 'A-'0DDOOOO

goo

A, A
DDLZDDDDAD(SI u)DDDDDDDDDD&bmg

A22
0ooooo
AT —A AAy
ooo (M neTEtR ) noooooooon
0 Az,
(proof)

EIEIDD[ID[I

1.2 0000

000000000000000000

1.0 (0)ooo

2. 0(0)0 ¢(£0)0

3.000(0)0c00000(0)000
0000000000000000000000000000000

1 (i0) (G 0)

Ex(i,j) =




SA(e;d,j) =

gbooooood

e Ex(1,j) 000000000i00jO00000
Ex(i,j) 000000000i00; ;00000
e Scl(c;) 00000000000 ¢(£0)00
Scl(e;) 000000000i00 ¢(£0)00

o SA(
SA(

4))000000000i00c00j00000
j1)000000000i00 c00jo00000

e e

goodddoobobooooooooooooobooa

1
Ex(i,j)"" = Ex(i,j), Sel(c;i)™! = Sel(Z51),  SA(e;i, j) 7" = SA(=e;i, j)
gob0ddoooobooooooobooooooooa

001300 AD00DOO0ODOODOOO0 pODOOODOODOODO
gooopOOnO
B =PA

0000000000000000000000000 QOO
00
B = AQ

0000000000000
B = PAQ
ooooo



1.3 0O0OD0OOd

0000000000 (0[000]000)0000 (0)0000000
(0)0D0O0000000D00000000000000000000000
000o00000000000

00140000 AODODDODAX =FOUO0OO XA=F0OODO
XO0O0oOoooooooooob Aoobooooo

(proof)
AX=EOOOOOOOOOOoOOoOo

()l00000C0o0o0oooOn
(i)k-1)0DOOODOOOODOOOOODAOkKODOOOODOOOO

A=000000 XOOOOO0 AX=F0O0O00O0OO0O0OO0OO0OO0O0O00000
oo

A#0o00O0CCOOCOOOOOOOOOOOODOOOOOODOOOODOO
(1,1)D0000 1000 10000000

1 t
B = 0
0o A
googooo

oo0o0O0o0 130000000 PQOOOOOB=PAQUOOO

BOOOOOOOOODO
'b

“ixpt= (¢
@ c X’

00000000(B)Q'XP ) =(PAQ)(Q 'XP~!)=P(AX)P~'=E

1 0\ (fa ™\ [a !
o000 AX=E0000
A0 (k-1)0000000000O0O0O A’0000000
O0O0o0O0OBOOO 120000000BOOOOOOO
A=P-'BQ-'0000P,B,Q-'00000000000000000

AOOOOOOOOOOOOOOOOOOOOOOOO
()ii) D00AX=E0OO0OO0O0OOO0ODOOOODOOO

XA=EOOODODO(Q'XP)(B)=Q Y(XAQ=EO0D0D000000
0000D00000D000000 [6o8]



2 Joooon

21 00O

oo 2.1
1
o |o
dbooobogbdooobooboobogbdoooooboooogand

oo 21 00000000000O000L00O0O00O0DOO0O0OO00n
goooog

(proof)
gboobooobooooooooooooooobobobooboboOon
oooooooooooooooooooooobobbOOoOoOoDOoboOooon
gboooOoboooboooobOoOooOobOooooboooobobOonon
gobobooooooooooooboobooboobobobobobooboobo
oo0ooo0oOoOoooooooooooooooo

obooooooboobooboooobooooobooboooooobooobon

goboboobooboobooboboaoboobooobooboooboo
DDDDDDDDDDDII]

22 000

oo 2.2

)ro

gbooooooaoo



oo 22 0000000000000 O0O0O0O0DLO0OLOOn
gooo

(proof)

udz210000000000000000O0C00O0OO0O0DOOODOODOO
1

1
1

oooo X 00000000 ooooo
1 0 ... 0
o |o P
0 ... 0

gobobooboobgoobobobobooboobooboboobo
gboobooboooobooboo

000000000 A0000D0O00O0000O000O00 E(r), E()(r#r)
0000000000000 1.30000000 P,QR,SO00000

A= PE(r)Q =RE(r")S
gobooooono
E(r) = (PT'R)E()(SQ™)

goog

00000000000 »>/00000000000000CO0OOO
gbooboobooooobooon

P P
pig= (P P2} go-1 o Qu Q12
Py Py Q21 Q22
gooo

P P E 0 P 0
B(r) = (P-LRIEG)(SQ-1) = (111 T2 Qu Q2 _ (Puln

Py P 0 0/ \Qa1 Q2 0 0
O000r>+0000000000DO0ODOODOOOCDOOODOOODOO
DDDDDDI’ZI"DDDDDDDDDDDDDDDDDDD

23 00

00 23000 2200000000 ADODOODOUOOOOO E(r)O0O
000000000 £(”1’00000000)0000000mankA0O0O0O



X

00220 00 h | gbboobooboobobg

o |o
0000000000000

gboooooobooobooooobobooobooboooboooobon

o0 2300000 A000 < rankA=n

(proof)

()rankA =n 000

0000 PQOOOOOPAQ=Em)=E0000.. A=P'Q'0000
Pl '0000000AODOOOOOO

() ADDODOOO
rankA #n 0000 rankA<n 00000000 P,QUODOOOOPAQ =
E(rankA)00OO0O0OOOO

| 0

)rcmkA a

0 0
gbooooboooobobooobooboooooboooooobooOoon

OD0AX =FO000X0OOOOOODOOOOODAOOOOODOOODOOO
ooopooodoo0rankA=n00O00

24 0O00O0OO0DOOO

0000000000000 Az=b000000OOOoOoOooooog
Oo0oQoOoOoOoUAQOOOOOOOOOOOOOOOOOOOOOCn



oo 2.4

1
X\,
1
o |o
oo
(b 00 r=n000
X Cr41
T b+ B : ( DDD) O0r<nO00O00
E : Cry1y7 7 5, Cn r n
\ Cn
br—l—l
0o0odoobobDx,b0nO00000000O0 =0000
br,
oooooon
(proof)

r=n00000(00)=0000)00000000r<n00000000

T b1
z=|:|,6=|:|000OO
T, by,
x1 b1
1 1 Tr41
X T, | S+ X | b
1 Tr41 B Ty T a bri1
o |o \ 0 J;
T, bn,
gooo
x

Tr41 by br+1
o 1 Y O e

Ly Tm b, by,



obooooooboooooobono

X[
’ errl
Ty _: : .

T1

T,

T = =b+ =b+
Tr41 Lr41 E
. . L
Tn Tp
errl
ggod gogoobobboooooboo

X ) (X)X
1 E_XX_

o |o

oooooo0oDbo00000 [ooo]

000 AOD0OO0O0DO0O0O021000000000000PO000OO0
0QOOOOOPAQ=(00) A=PY(00)Q"'000

Az =b P 1(O00)Q 'z=b (00)(Q 'z)=Pb
00000000 240000

Pb rankA=n000

(Q'z) = - X [

Pb + E | (epyr, - ,c,000) rankA <nO00

Cn

0200000000000 (Q'2)000000000000O0O0 QOO
gboooobooooobooboooooon

o025 00000000 Az=06000000000000
1
1

o |o

OPrPO0OOOO QLOOOODOOOPAQ =

10



gooboood

(QPb rankA=n000
T — _ CrankA+1
QPb+Q E : (Cramkas1 -+ ,ca000) rankA<nO00
\ Cp
oood

25 0UU0odoobobooooobo

0026 0000000 (0)000000O0OOOOFEOOODO
oo

(proof)

O0A0D0OOUOO0O0OOrankA =n0000000 P,QUOOOPAQ=E(n)=E
00000 PA=Q ' (QP)A=FE (QP)0D0ODODOOOOOOOOOD
ooooooAQOODOOOOOOOOO EOOOOOOO

000 2600000000000000000000000000000
000000000000000AOOOOOOEDOOOOOOOOOO
0000000000000 POOOO PA=EOOOOOOOOOOP
0ADD0DDOOOODOO

OO0O00[A|E)]0000000000000000O0O0O0O0O0O00000
0000000000000000 [E|P]=[EA0000000000
0ooooooo

Tea Break:[0 [

00 (0000)0000000 (000)00000000000000000000000
0000000000000000000000000000 470 (BC260)0000000
0000000000 000000 450000000000000000000000000
0000 400000000000000000000000000000000000000
000000 1400000000000000000000000000000000000
00000026 000000000000000000

00 110 (BC2360)0000000000000000000%000)0000 (00O
00)0000000000000000000?0000000000?0000000000
00000000 90000000000000000000000000000 (000)0¢?
0 (0000)00000000000000000000000 2000000000007
000000000000

00 13000 1400000700000000000000000 1500000000
00000000000000000 1700000000000000000000

00 180000000000000%00000)0000000000000000000
0?0000000000000000000000000?0000000000000000
0000000000000 000000000000000000000000000000
000000000000000000 1900000000000000000000000
00000000000000000000000000000000000 (000)000

11



0dboooboooooooooooooooboooOooooooooo0oooooooooo
gooooO0ooooOoOo0oO0ooOo0o0o00boO000O0OO000000O0O0O00000O0O0
00 20000000000000000000000000O0C000O0O0O0OC0O0O0O0OO
goooooooooooooooooOoOOOOODOO0OO0OO0O0O0OO0DO00O00ODOOODDOOOD
goooooooOoOoOoOOO0OOO0OO0O0OOOOOOOOOOO0OOOOOOO0OO0OO0OOOOOO
gooooooooooooobooooOoOoO0oOooOoOoOoOoooOoboOoOooOOoOoOooOboboOoooon
gooooooOoooooOoOooOoOooOoOoO0oO00O0000O00C0OO00000O0000O0
goboooooooooobooooOoooUoUobooobOOoooooooooooooooooo
goooo0oooboOo0oO0obooOoOo0oO0boOoOoO0oO0O0ooO00000O00000000000A0
000000000000000000000000000000000000000O00O0O
oooo
goo0oooOo0o2o000000000000000C0O0O00C0O0O0COO0O0CODOOOBGO
gooooooooobooobooOooOoOoO0oOooOOoOoOooOoboOoOooOOoOoOoOooOoboOoooon
goobooO0ooOoboOoOoO0oOoO0OoOoO0O0oOoO0OoOoOoO0OoOO0OO0bOOOO0OOO0bOO00n
gooooooooooooooOoOoOoOoOOOO0OOO0O0OO0OO0O0OO0OOO0OO0OOOoOoOoooooo
goooo0ooooOo0o0oooOO000bOOoO0OO0000O0000O 000000000000
0000000000000 000D@o00o0o00o0o00o00o0ooo0ooO0O0ooooD (OO
00)000000000000000D0D0000000000D0DD0D00000000000
gobooOoOoooOoOoooooooooOog
goooooooooOoOoboOoOo0ooooooooooooOoOoOOObOOOOoOomoooo
goooooooooOoOoOoooOoOoOoO0OooboOOOO0OOOOOO0OOOOO0OOOO0O0O
gooooooooooooooooOoboOoOoOoooOObOcOoOOoOoDOOOOOoOoOoDOObOOO
gooooooOooOoOoooOoooOoOoO0boOO0O0boOo0O0OOO0OOO0OO0bOO0O0bOO0O00b0O0O0
goooooooooooooooOoboOoOOOOOOOOOOODODOOOOOOOOOOOO
gooooooooOoOoooOo0OoOoO0oO0boO0OO0O000O000O000O0O000O0O00B80000
0000o0o0ooooooobooodobooooboooboooooooobooooooooooo
goooooooooooooOoOOOOOODOOOOOODOOODOODOOOOOOO0O000O0
gobooooooooooooooa
0000000000000 000000O0000DD (DOOO0)oDOOUOOoooooOoOoo
gooooOoooooooOooooa
00 210000000000oooooooooooboOobOOoObOOObOObOOOOOOO00
gooOooOo0ooOoO0o0bO0O000O0o0O0O000O000b0000000000O0O000B000
goooooooOooooooooooboooooo
goooooooOoOO0o000ooooO0o0oooooooODOOOOb0O0O0O00OoOoobooOo0OO
goboooOooooooooOoO0OoOOOO0OO0OO0OO0OO0O00O0O000000000000000O
go0o0o0obooooooooooboooooooooooOoOoOoO0O@m20b0b00Ob0bOODbODbOOOO
goboooOo0ooooOoOoOo0oooOoOoO0om@eoOobOOOOODOOOOOOOmMOOOOO
gooomoooooooooobooooooooooooOobOoOoOoOoooooooOoOboOboo
goomooo0obooo0oooOo0ooo2000000000000G0O0O0O0O000G0O00O0O
goooooooOoooooooooOoOoOoOoOoOooooooOOoboo
000000000000000 (0000)000000000000000000000
00o0oooooooOo0oob 210000000000000000000000000COCOO
00 220000000000000000000000C0OCCOO0OOOOOOOOOOOO0
goooboooooOo0ooo0oooOoO0o0obooOo0ooOoOoOoboOoOo0oOObOOOObOoOOboOO
goooooooboooooooooooOobOoOoOoOooooooDoOObObOOOoDOoooooooOon
gooooOooooOoOo0ooooOoOo0oo0boooOo0o
000200000000000000000000000O000O00O0OO0 (DD)0O0ODO
goo0ooo0oooO0oooO0o0oOoO0o0b0O000b000b0O00000000000000000
00oo0oooOoo0o0oo0oOoo0ooro00o0 (Do00D)b0o00ooOOooooooo
goooboo0oooooboo0ooooobooOoooooboOoOooOoooooOobooOooooDoDn
gooooOooooOoooOoOoOoOooOoOO0OO0OOOO0OO0O0OOOO0OO0O0OOOmOOOn
goooooooooooooooooooobooobobooooboooboooboOoOobobooooOoOoo
gooooooOo0ooOoOo0ooOoO0oO0O0OoO0O0OO0O0O0O0OO0O0b0O0OO0O0bCOO0b0O0B0000
goboooomooooooobooooooooobooOoboOoOoOOObObOOOoOooooDoObo
gooo0oooooo0ooooO0oOo0booo0o0o0o@ooOoooooOo0o0oo@moonn
00o0o0ooooooooobootbeo oo mooooooooooo
oo0omooooo
g0 23000000000 e600000000COOO00OCOOOOOOOOOOOOOGO
00000o0o0ooooooooooobOOoOo0O0o0oO0oO0000000000000000000
goooooooooOoO0oOO0OOOOO0OO0OO0OO0OOO0OOOOOOOOOOOOO0OOCOBOOOO
gooooooooooooboooooooOooooObOoOoObOOODOObObOOOObOOODO
gooooooOoOoooboo0obooOoOoO00Os00000O000O0O000O0O0O00COO0O0BO0OO

12



gooooooooooooooooooOoOoooOooooOOobObOOoOoOooooooOoboboOoOoon
goooo0ooooOo0o@oboooOo0O0oOo0oO0o0O0oO0000O00000000000
go0o0ooooooooooooooboooooOoOoOoOOOODOOODOOOOOODOOOOO
goooooboooooooooooOoooboooom

gooooOoooooobooOoOoOoO0OoboOoOoOOOO0O0OOOOOOOOOOOOoOOOO
goooooooooooooOoOoOoOoOoOoOOOOOOOOOOOoOoOoO0oOobOOObOOOooo
gooooOooooOoOo0oO0ooOoO0oO00O0boOO0OO00O0OOO000n0

gooobooooooobooooooobooboOoUoOooOobOOOOOObObOOOODbObOODOOO
goooooOooOoO0O0bO0O00000b0000000000O0O00C0OO00C0O0O0O0O000O8
0oo0o0o0oo00o0o0o0oo00oo0o0ooUo0oo00ooD0o0oD00ooOO (oboob)Oooooo
goooOoOoOooo0ooooooooo

00 24000000000000000000000000O0O0COOGOOCOOOOOOO0
gooooOOoooOoooooooooooo

00 20000000000000000000000C00O00COO0OOOOOOOOO
goooooooooooooooooooooooboooboobooboboooODOoOOODOOOOO
gooooooooOoO0oO0OO0OO0O0O0000O0O0C0OOOOO00O000O0O00O00O0O0O0O0O0O0
go0ooooooOooooooooobooboog

00260 (BC2210)0000000000000000O0DODOOOOOOODODOOOO
gooobo0ooooooooOooooooooOoOooObOOoObOOOOOOO000OOoO0O00oOooo
go0o0oooooooooooooooooOoOoOOOOOOOOOOOOOOOOODOOOOO0
goooooooooOoooooOoOooOoOoO0oOOO0bOO0OOOO0OOOOOOOOOoOOO
oooooo

0000:000 00000000 0O0: 0000 00000 000 000

000000 http://www.sinica.edu.tw/ftms-bin/ftmsw3

13



3 duubuobuoooooon

3.1 0ooggn

0000000000000FA)000000000000000 (00
00000000000)0000000000000000000000
0000(mnO0000AO0OO0ODDOOOOO0D0 A=(ay, - ,a,) 00
000000000000000000000000000000

00 3.1 0000000000000 F(ay,---,a, 0000000000
oboboooooboooooooon

1. F(al’... 7a]+a;) aan):F(al)"' ’aj,... ’an)_i_F(al,... ’a/,

2. F(ala"' 7%7"' 7an):QF(a17"' 7%7"' 7an)

ooooobooobooobboooboooboooobbooboooobbooooo
0000oO0000o0o0oU0oO0oUoOoOoo(@OoUb0)oboooooooooon
obooooboooobooboooobo-.0OO0DbOOOO0OD0OO

oo0oooOo0oOoO0oDOo FrO0OO0ODOODOOOODOOOODOOD <

1 0 0
0 1 0

el,...’en>|:| e = . ,€9 = . N . ogoooooo
0 0 1

00 3.10000 A0 (i,j)DDD a; DOOOOO0FOODOOO
oooooon
F(A) = F(ah"' 7an) :ai(l)lai(2)2---ai(n)nF<ei(1)7"' 7ei(n)>

0ooooooooooooooodoooooognn
(000000000000000000% ), Xy iy, 000000
ooo)

(proof)
a; =" a;e,000000000000C

@ Z Ai(1)1€4(1)> " "~ Z Ai(n)n€ z(n)

i(1)=1 i(n)=1

n n
= Z Z F( al(l 1€i(1)5 ai(n)nei(n))
n n
= Z Z ai(y1 - Gigynd (€i1), 5 €i(n))

DDDDDDDDDDDDDDDDDDDDDDD

F(A) = F(ay, - ,a

14



oboooOoboooooboboooooboooobooobooooobon

D0 320000000000000 F(A)ODOOOO0A= (ay,---,a,)
00000000 0000000000F(A) =0

(proof)
A=(ay,---,0,---,a,) 000000000000 00000

F(a17...’0’...’an):F(al’...’w_w’...7an)

I
S B>

(ala"' y Ly 7an)+F(a1a"' y T, 7(1,")

(ala"' y Ly ,an)iF(ala"' y Lyt 7an)

3.2 000

oo 3200 F(ay,-+-,a,) 000000000000 0OCO0OOOOOO
0000 FOOO (-1)O00O0O0OOOOOOOOOO

000310000000 F(eju), - ,eim)00000000000000
00000D0000000000000000000000 ey, -+ »€i(n)
Oep, - ,e,000000000000000C0CO000000000O0OO
0000000000000000000000000000000000
ooo

oo 33 [l,---,n]0000000000 (3,2,1,4,---)00)000
oooooooooooooL,---,n000000000O0

(proof)

1,---,n]0000000O0O0O0OO [oy,---,0,]000000000000
0o00o (h,02) 00000000000 OOOOOOOCOOOOOOOOO
oooooooooooOoooobo 200030000000D0O00O00O
0000000000000 o0o0o0o0o0oDoOO0 (0 300040),(0
400050),--000000000000O0DOOOOODOOOOOOO
ooooooooooooOoOoOnDOoOoOoooo

00000 (0 100020)00 (OCn20000-10)00000000
00000000 n-100010((-1)0000000n-1000000000
goooooooooOoOoOOODOOODOOOOOOOOOOOOOOOO

000 [L,--,7 000000 [559]

15



000000000000000000000000000000000
00000000 [oy,---,0,)0 [1,---,n]000000000000000
[1,---,n]000000000000000000 [oy,---,0,)000000
0000000000000000000000000000000000
0oooo

0006y, - ,0,]0000000[1,---,n 0000000000000
00000000000 00000000000000000000000
00000000000000000

oo 3.3 00

(T, — Tn-1) (xn, — Tp—2) - (xn, — 1)

(ﬂﬁn—l - xn—z) ce (xn—l - 1‘1)

(z2 — 1)

goboboobobboobodaz,---,z, 000000O0O00OOOODODOODOO
gboooobooobooboboooobooooboboooboobooon

oo 34 00ggbbbuggooon

A(xla"' y Lyt s Tmy 0t axn):_A(xly"' y Lyt Lyt o 71'71)

0ooo@oo i<m)

(proof)
oooooooooooooboooOo0dgbob 2, 000000O0OO0O
ooopooooooo

(@ —ay), (@1 — ), (v — =), - (B — @), -+, (21 — 21)
Tt (X =), (@1 —Tm), (Tl — @)y (T — Tn—1)y -+ (T — 1)
ooodd(y -z, 0000000000000 0OOOOOOOOO

(@ —ap), (@1 — @), (1 — 2p—1), -+, (1 — 1)

Tt (T — Tm), s (Tl — Tm)s (Tm — Tin—1), -+, (T — 1)

00000 2,000000000000000000000000000
000000000(X —Xm) 0000 (Xm —x1) = —(x1 — xp) 0 (-1) 00
0000000000000000000000 (-1)0000000000

00000000000 [o5]

D0 340 kO0OOOOOOOO][oy,--+,0,] 0 [1,---,n]000
000000A(ey,---,0,) = (=1)FA(L,--- ,n) 0000

16



00 3.5 [0y, ,0,0[1,---,n)000000000000000
0000000000000000000000000

(proof)
[o1,---,0,]0 [1,---,n)]0000000000O0O0DCOOO kOI0O00O
oooooooooooooooOoOODODODODODO 340000

Aoy, ,0,) = (=DFAQ,--- )

O0000O00A(L---,n)#£0000 (-1)f=(-1))00000k0 1000
0000D00000000000 [55]

ub 34 00 ss000000000000000O000O0O0OOO0OCOOO
obobooboooooboboobooboboobuooooboobooooon
oboooooooooboo,b00b000o0ob ss0b00oooobboobo
obooooopboooboobobooogoo

(@)
12300000
00 0:123,231,312
00 0:321,132,213

goooooooooooooooooooooo
oo 3.6 00 Flay, - ,a,) 000000000

F(@s,  ,a5,) =4 —Flay, - ,a,) [o1,---,0,]0[1,---,n]0000
0 godooood

(proof)

(o1, - 000 [1,---,n]000000000
[61,---,0,)00000000000OC0ON,---,n00000000OOO0ODO
0000 Flag,, - ,a,,)=(-1)PDF(ay,--- ,a,) = Flay, - ,a,)

(i)[o1, - ,0,]0 [1,---,n] 000000000
[01,---,0,]000000000000Y[,---,n]00000000000O0C
0000 Flag,, - ,a,,)=(-1)"DF(ay,--- ,a,) = —F(ay, - ,a,)

17



(ii)000000
[01,--,00]0[1,---,n]00000000000000000000ey,-- 0]
00000000000000000000000000000000FO
0000D000D0000000 F=-FOOOO F=00000 [o05]

0000000000 36000000000000000000000
0oOoo0o(ooooo)

000000o0o00o00oo0oooUooooooooo (oo)oo
oood

00 85 [0n000000000O0 0000000 (61,-+-,0,)000
oooooo e(eq,--+,0,) 00000000000

1. e00000O0O0O
2. ¢e(1,---,n)=1
gobgooo sedbnooood

1 [017"'30n]D[L"',TL]DDDD
g(or, - ,0n) =% —1 [01,--+,0,] 0 [1,---,n] 0000
0 ogoogoooo

gboboosgobooobomoooobouooooooboooboooboono
gbooooooooon

0000000000 3.6000000000000
00360 00 F(ay,--+,a,) 000000000

F(aap"' aaan) 25(01,"‘ 7Un>F(a17"' 7an)

3.3 0O4g

0000000000000 FA)DOoOOoOooooooooooooo
oboooooboooooobono

oo 370000 AO (4,))000 «,; 000000FO000DOO
gobobouooooboo

F(A) = F(al, cee ,an) = 8(2(1), cee ,i(n))ai(l)lai@)g e ai(n)nF<€1, cee

gooo

18



(proof)
ooooooooooogo

F(A) =F(ay,--,a,) = aj(1)1- "ai(n)nF(ei(1)7 T 7ei(n)) (0031

= a1 Aiyn{e(@(l), - i(n))Fler, -+ en)} (00 3.7)
= E(i(1)7 T 7i(n))ai(1)1ai(2)2 S ai(n)nF(ela s 7€n)

O00O00OO0F(ey,---,e,)=F(EF)00000OOOO0OFOOOOOOO
obooooboooobobooooboooobobooooboooon
oboooooooooooooo

00 8.6 0000 AODOO |A| =det(ar, -+ ,a,) 00000000000

1. |A| = det(ay,-- ,a,) 000000000000000
2. F(er, - ,e,)=F(E)=1
00000000 A0 (4y)000 @; 00000000 870000000
|A| = det(ay,- - ,a,) = c(i(1), - ,i(n))a;1)1Gi2)2 - - - Ci(n)n

goog

gbooooooboo3ryoooboobooogon
oos3r0 0000000O0O0OOOOOFA)ODDDOODOOOO
goboooogn

F(A) =F(ay, - ,a,) =det(ay, - ,a,)F (e, - ,e,) = |A|F(E)
Jgo0odoooooogooogbouoobooouobouogoogouog

00320 A=(ay,---,a,)0000000000000000O
00 |A| =det(ay, -+ ,a,) =0

00360 A= (ay,---,a,) 0000000000 (00000
00000000)0|A| =det(a, -, a,) =0

gobooboooboobooboobobboboon

goboooooooobooooobooooooooobooooobooon
ooog
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00 3.8 |AB| = |A||B|

(proof)

000000oooooog F(X) = F(ey, - ,x,) O F(X) = |AX|
00000000|AX| = det(Axy,--- ,Ax,) OOOOF(X) = |AX]| =
F(x.,--,z,) 0000000000000 O0O0OO0OOODOOOOOOO
0000 370000JAX|=F(X)=|X|F(E)=|X||AE|=|A||X| 00O

00000 [oao]

gboooobooboobobooobobooooboooon

gobobboobooboobooboabn

oo 3.9

1 '
= [X]

0 X

(proof)
1 ‘o 1 to

F(X) = F(z1, * ,&n) = = Ooooooo
0 X 0 x, - ,x,

F(xy,--,z,) 0000000000000 0O0OOO0OCOOOOOOOOOO
oo 3.70on

1 ‘to

= [X[|E| = [X]
0 X

— F(X) = |X|F(E) = |X] ‘(1) .

3.4 OogooooOo

gbooboobooooboboooobooooboobooooobaon
gbobooobooboboobooboobooooboobooooooboooon
oboooobooooogd

00310 0000000000000 (-1)oo0o0O0O

(proof)

00000000000 [ooo]
0031100 ¢#0)0000000000 cODODOOO

(proof)

gboooboooboon
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oo 3120000 cO00OODOOOO0O0O0O0O0O0O0O0O0O0OO
gobbooooon

(proof)
jd0cODiOD0O0OODOOOOODOOOOOn

det(al’... ’ai+ca‘j’... ’a,j’... ,an)
=det(ai, - ,a;, - ,a;,-- ,a,) +cdet(ay,--- ,aj,---,a;,---,a,) (-O00000)
=det(ar, - ,ai - ,a4,---,a,)+c-0 (-003.60)

:det(ala"' y iyt Ay e 7a'n)

0000000000000 000000 (OO)OD0Do0o0oUooooo
gooooao

1 (@0) (4 0)
(i0) 0 1
1. i00 j0 000 Ex(ij)=
(O) 1 0
1
1 G0)
2,100 ¢(#0)O:Scl(c;i)= | (: O) c
1
1 (¢0) (G 0)
(:0) 1 c

3.i00¢00j0000:SA(cij,i)=
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oboooobooooboobooooboboooooboooooaon
oboooobooooooobobooog

|E-Ex(i,j)]  =[Bx(,5)] =-|E] =-1
|E - Sel(c; i) = |Sel(c;1)| =c|E| =¢(#0)
|E-SA(c;i, )] =I[SA(e4,5)] =[E] =1

gobobobooboooboobobboboo
oo 33 jpoboooooobooooooeogbbn

gbobobooboobaooboobobobobbooboobooan

0000 A0O0O o |A£0
0000 ADDD0O0O0O0 < |A[=0

oo 3.14

(proof)
oo AQQOOOOOOOOOOOOOOOOOOOOOOOOOOO
OpQOOOOO

A = PE(rankA)Q

00000(0000000000000)00000
[A] = |P[|E(rankA)||Q|

0000003.13000/P|#0,|Q| #00000/A|0 000000[E(rankA)|
00000000000 320000

1 rankA=n0O00
0 rankA<nO00

|E(rankA)| =

rankA=n < [A]#0
ooog oboooooobo 23000
rankA<n < |A =0

oooog A00OO — rankA =n
0000 AO0O0ODO0DO0 <« rankA<n

DDDDDDDDDDDDII]

oboooobooooboboooobooon
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oo 315 OO0 oogouoobodboobogboonbDo

(proof)
gooooooooo

"Eax(i,j) = Ex(i, j)
tScl(c;i) = Scl(c; i)
tSA(c;i,j) = SA(c; 4, 1)
goboooooobooooobooooao
' Ex(i, j)| = |Ex(i, j)]
|*Sel(c;i)| = |Sel(c; )]
'SA(c;i,j) = [SA(e; 4, i) = 1 = |SA(¢;1, 5)
gooooooo

0000000000000000000000000000
00 3.16 |'A| = |A|

(proof)
ooooOAQOOOOOOOOOOOOOOOO0O0O0O0O0O0O0O00000
0PQOODO0

A = PE(rankA)Q

googooooood
A= Q'E(rankA)'P =" QE(rankA)'P

afufufufsfsfsls
"Al = ["QIIE(rankA)||" P|

000000 315000(P|=|P,['Q|=|Q|0000

"Al = |QIIE(rankA)||P| = |P||E(rankA)||Q| = | PE(rankA)Q| = | A]
0000

uoboooooobobobooboooooooooboooobooooboaon
obooooboooobOobooooboobooboOoboooobooon
gboooooboooobobooooobooobooboboobooboooo
gboooooao

gobobboobboobooboobooo
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oo 3.17
t t
0
a Yy _ a :a|X|
0 X| |y X

(proof)
000000000000 000000000000000

a 'O 1 to 0 ‘o
=aq =+
y X 0 X y X
0 ‘o
=alX|+ 00 39
Y

—q/X|+0 --00320(000000000000000000)

3.5 Uggooo

oboooobooooobooboboooboooooboobooooono
oo 3.18

det(a;,ay,- - ,a,) = (=1)""det(a,--- ,a,)

(proof)
O000000i=10000000000i=k00000000000i=k+1
ooooooooooog

det(ag, a1, - ,a,) = (=1)"det(ays, -, ay,)
000 a0 aps 000000
(=1)det(ari1, a1, - ,a,) = (=) det(ay, -, ay,)
OoOo (-1)0ooo
det(apy1, a1, - ay) = (1) D det(ay, - ay)

goboobooobooobod

000000000 [555]
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0000000000000 0000000000o0O00oOoooo (i)
000 (L,1)0o000o0o0o0oooooooood

o0 3.180
Q5 ‘ 41 Qip, a1; Q12 1y,
Q15 | a1l Q1n L 21 Q22 A2n,
det = (=1)"*det
anj Qn1 Ann Qp1  Gp2 Ann

gbobooooooobobobobbobooooobobobobo

00 3.7 n00000 ADOD4O000 00000 (p-1)0000000
(1j)0000000000000 (-1)* 00000000 (,j)00000

00 |Ayl,detAy; 0000

oo 3.19
a1 Q1 Q1n
21 a2 A2n,
detA = det ]
Qan1 Anj Qnpn
;| Ay| + - o+ ang| An]
(proof)
a1 a1y A1n
a1 agj azn
detA = det ]
n1 Qnj Ann
a11 ayj a1n a11 0
azi 0 a2n asi
= det N
0
Gn1 e O Anpn [e7%1 anj
a1y ai A1n Qn j an1
| 0 ax G2n |0 aii
=(-n'* Fof (1)
0 an1 Ann 0 A(n—-1)1

= ayj|Ayj| + -+ anj| Ay 00 317
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3.6 00000000
00320 k#0000
a1k|z‘~11j| + - +ank|Anj| =0

(proof)

A:(a17"' y Ayt Ay aan)DDDDDDdet(a’la"' a%a"' y Ayt ot 7a'7l)

gjoooobboboogo
det(ala”' y Ayt 0 5 Ay "+ aan):alk|fzilj‘+"’+ank|finj‘
000000000000 det(ay, - ,ak @k, ,a,) =0000000

000000 [5o] B

k=j00000000detA=|A|0000000O00O0OOOOOOO
oood

00 3.21
ark| Agjl + -+ ankl Ans| = 51| Al
00000000000000000000000

00 3.8 ADOOOODO ADOOO (4,5)00 =4, =[*A;| 000000
ooo@moooo)

000000000000000000
00 3.22 AA = |A|E

(proof)
oooooooooDooo

(AA)ij = (A)ir(A)rs = [Avilaji + - + [Anilajn
= aj1|Ay|+ - + ajnl A

= 05| 4|
DDDDDDDDDDDD
OO0 3.220 1
A=A
| A
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3.7 Oogogooo

00000 Ax=b0O000000000000AO0OO0ODOOCOOO
oboooobooooboboooobobobooboobooooboon
o0AQOOODOOOOODOOOO

AD0DODOOOOOO A-'00000000000000000000

1 -
x:A—lbzmAb --00 3.220

oboooooiooooboon

1 ~ ~
T = m{(A)ilbl + o+ (A)inbn}
1 . -
|A|{b1| 11|+ +bn‘ nz‘}
_ det(ala"' 7b7"’ ,an)
N det(ala"' s gyt 7an)

gboooobobooooobooooboobooood

3.8 UUUgobooooooon

gbobooboooobobooooboobobobooboooboooooboooo
O000000O000O0OU0oOoU0ooo(DooUoooooUooo)yooo
oobooobooobooooooboobooboobobooobboooboooobo
gbooooooboooooboboooobooboobobooooobooo
gboobooboooboobmooboooboobobooobomuoboon
oboobooooooobooOooobooooboboooooboobooooo
00000000000000000 (00 3.14) 000000000000
gbooooboooooobooooboobooon

oboooooboooooboobooboooboboooooboooooaon
OA(x1,-,x,)000000000000000O0O0O0O0OOODOOOO
gbooboobooooboboooobooooboboooboOobooon
gboooobooboooooboooooan

00 3.23n000000 f(xl,---,xn)DDDDDDDDDD
flxy, - xy) =gz, 20) Az, -+ ,xy,) (¢0ODODODOODO)
godgdogoogno

(proof)
oboooobooioobt0 0000000Db000000000 z; =
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21, (i000),2, 0 f(zy, -+ ,3,) =0000000000000000
00f=(zi—2p) - (z,—21)Q:(x) 0000000000000 4i=1,--,n
ooooo0ooo

f(xlf" 7xn) :9(1'17"' axn)A(xla"' 7xn)

000000000 000oooo0oooouooooooooo f,¢,A'0
0000f00oooooooof=—-fA'=-A00000000

A
T g N —f = (—A) - /:i:L:
ff=9 f=4(=A8) g =%="%
0000g000000O00O
goooooooooooooooooooo
00 324 (0000000 OODOOO)

1 1 1

xl x2 PR xn

2 2 2

xy T Ty _A(:Ula 7xn)

x?‘l xg_l xﬁ‘l

(proof)
ooog «,---,2, 00000000000 f(z1,--+,2,) 0000000
obooobooboooobOobooooobo 323000

f(xla"' 7xn):g(*x17"' al'n)A(xla"' axn) (gDDDDDDD)

000000000000000000f0000000 ;0000000
00000000000000000000 (n-1)000000000 AQ
00000020000 (n1)00000000g00000000000
000000« 2" 22,1 000000000000000000000
0000000000100000000000000]],,(z;—2,)000
(z;) D0D0D000000000000000 10000000 g=100

DDDDDDDDDD
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4 0UU0Ooooooooon

4.1 000000000

00 4.1 00 VOOOOOOOOOOOO 2,y000000 2z+y000
O ¢O ex, ey oooooooooooossssssssssey D00 000000000000
0VODOOO @w4+y€Viex,ey € V)IOOOOD VOOODOOOO
000000000000000000000

*DO0oOooooOoooooOoooOoooOooUooooooooooo
00 420000000000 aq,...,a, 00000
ciay + -+ + Crak
O0aq,...,a, 000000000000
ciay + -+ cgap =0

0000000000 0000000 (D00 e =cea=---=¢,=0)0
gbooooooddfa.,...,a, 0000000000 OO0O0O0OOOCODOO
goooooobooooo

oo 41 000000 00000000000 a1y...,a,00
O00000000000000000 (@0U000 e1y...5¢)
gobobooon

(proof)

T =cia;+ - +cgap =clay + -+ cag
gooooooobouooooooooa
(1 —c)ar+-+ (e — ¢ )ag =0

a,...,a;; 0000000000000 OOOOOOOOOOODOOOOO
ooooo

. I !
SLCl=C, e, 0 =G

000000000 [oo5]
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00420000 ay,...,a, 00000 < ay,...,a, 0000
00000000000000000

(proof)
(a;(i=1,...,k)00000000O0OO

ca;+ - +cpap =0
00do0oooo0ooooooDoobDg #0000 i00000DODO0OO

C1 Ck
C.a; = —Qg+ ... (ooo) + —ag
i Ci

obd0a,...,a, 0000 ODOOOCODOOOCOOODOOOOODO

(ias,...,a, 0000 DO0DODO0O0D0OOO0O0ODOOOOOOODO
ubod e 0000

a; =cia1+ ... Gooo) + CcxQg
gooboooooooood
crar+ -+ (-Da; + - +crar =0

0000000000000 0000000U0oU0oUOdOai(i=1,...,k)

DDDDDDDDD

00420 0000 ay,...,a, 00000 «00a(i=1,...,k)
00000000 O00O00o00
goooooooouoootoootoooobooobooooooooooo
gdoooboooob0oooooobooooooobooooobooooon
gooo0oooooobooooooooooooooon

gobobooobooboobobboobooboobooboboboon

gboobooboooobobooobooboooobobooboobooon
gboooobooooboooooobooog
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4.2 [0O0O

00 4.3 vOOOODO eq,...,e, 000000000O0OCVOOOOOO
obooooboobooooobobo<Kes,...,e, >0 VOOOOOOO

oo410 000000 0000 < eqy...5e, >00000
gbogobgboboobboboobooboobo

oooovooooooooooooooooooooDboD 420000
obooooovobooobooooooooooooboooboooboooo
goboooobooooboboooobooobooboboobooboooo
gboobooboooobobooooboooobobooboobooon
gbooooboooobOoboooobooooobooboooOobooon
oboooooooo

00 43 00000000000 < €1,+.vy€n >, < Fiyeeesfm >

goboboogobod oo

(proof)
fit=1,...,m) 0000000000000 0O0OO< e1,...,e, >000

gboooooooooo

fi= Ztijei (1)
i=1
0oo00000000<fi,...,f,>00000000000000
chfj =0 (2)

0000000<es,...,e, >000000000000<eq,...,e, >0
00000000000 00000

m
Z tijCj =0
7j=1

gbooooboboooooboooooan



t11 tlm
oooooA= : : ooooooo 2500000000 P

th1 . Tom

oooooQooooooo

X

PAQ =
1
o |o
gooooo
0 rankA=m0O00
C1
. _X ArankA+1
Q : (aranka+1s -+ ,a,000) rankA<mO0O0O
n D)
an
oooo

<h,.,[/m>0000000000000 (2)00000O0OO0OOOO
[&]

oooooooogoooooooo | + | =0000000000000

Cm

Orank A= 000000000000 O0O0O0O0OOOOOODOOODOOOO0
rankA<nO0000000m<n000000

DO00O000<eq,...,ep, >0 < f1,...,fm>000000000000
O0000m>n000000000000000n=mO0000000
0000D00000000000000000 [oog]

4.3 OO

00 44 0000 vOOOODOOODOOOOOdimvVOODOODOOO 4.8
gobboobgoobooboobooboboobooboobao

gbobobooaobooboobobboaoboaobooboboboboan
gbooboobooobooboboooooboobooboboooogo

0044 000O0O0OOO0OOOOOOODOOOOOOO azy...,ak
00000 (O0O00O000000000oooooooooo
0000)000oooooooood
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(proof)
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00000 @1,.vny@hy Tg1,-+-,, 10000000000000000
0000000000000000000000000000000000

00000000000 [5o5]
o045 D0O0OUO0OOOO0OOOOOO0OO00OO00O0O0000O00O

(proof)
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000000000000 »00000000000000000a1,+++,an
ooooo0ooo0oooO voooooooooooooooooooobooo
OooooOooooooooo
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(proof)
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5 Uouuoouob-gooonb-

5.1 0ooggn

ob 5.1 0000 VO 20 ,yU00000ODO0OOOODOOODOOO
000000000 (x,y) U x-y0O0OOO

1 (z,y1 + y2) = (z,y1) + (2, 92)
2. (z,cy) = c(z,y)
3 (z,y) = (y, )

4. (z,z) >0 (00OO0O0O0O0xz=00000)

04 00000(x,x)00000000000 8000000
gobgboboobboobooboobodda

(0)00000000000000000000000000002.000 (cx,y) = c(z,y) 0000
00ooooo

Do s1000000000000004
1. (%1 + x2,y) = (®1,9) + (T2, Y)
2. (cx,y) = ¢(z,y)

3. (0,z) = (x,0) =0

(proof)
01 2000000000000012000000000000 3.0
oooo0o3.0000000000000 20000 cc=000000¢0 3.

00000000 [oa5]

5.2 0OU

ob 5.2 000000 VDO 20 z,yO00O00o0OOO0O0OODOOODOODO
gon

gobobooobooboobobboobooboobooboboboon
good
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oo s20000ay,...,e, DO0O0O00OOO0OODOO0OOOOO
gobboobooogbboboooobo

(proof)
oo0o

cia1+ - +cpa, =0 (3)

0000O0a(i=1,---,n) 000000000

(ai, ciay + -+ cnan) = (ai, 0)
ci(ai,ar1) + -+ cpla;,a,) =

0
ci(ai,a;) =0 0000000000000
a,0000000000000(a;,a;)#00000000
C,L-ZO (’L’:l’...’n)

oo0oo00oO 3)0ouoooooooUuooofay,...,ae, 0000

DDDDD

5.3 00O

00 53 000000000000 200000000 |00
]| = /()

00000

oboo400000000000000O00DOO0

00 5.3 |(z,y)] < [z]yll ooooooooo)

(proof)
lyl?z — (y,z)yD 00000000000D0DOOOO

0<(lyllz - (y,2)y, lyllz — (y,z)y)
= llyll*l=l? = lyl*(y, =) (z, y) — |y]*(y, ©)(y, ) + (y,z)(y, )|y
= |lyllP(l=*ylI* — |(z, y)*)

goo

(@, 9)* < (lllyl)?
(@, y)| < [yl
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00 5.4 [ +yl < [[z] + [y @ooon)

(proof)
oooo
lz+yl*=(z+y.z+y)
=(z,z) + (z,y) + (y,z) + (¥,9)
= |lz||* + 2Re((z, y)) + ||yl
< lz||® + 2[(z,y)| + ||yl
<zl +2llz|lllyl + lyl|*> -~0000000000
= (lzll + [ly)?

0000D0000000000 [o]

00 54 00 XUOOO b0 00000OO0ODO0ODOO dODODODODO
00000Jd000000000000000000D (X,doooooo
goo

1. d(a,a) =0 z#yO0O d(xz,y) <0
2. d(a,b) = d(b,a)
3. d(a,c) < d(a,b)+d(b,c) (DODODO)

000000 VOOOabdO00000dO d(a,b)=|la—b||0000
0000d00000000000 (V,d) 000000000
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oo s5 UOOOOUOO0OO0O0O0:DO00000000 < eqy+--

gobbooggbobobogo

x = (e, x)er + -+ (ex, x)eg

(proof)
OO0000«O0000D0C0O000DO

T =ce;+- -+ creg
ooooao
(ei,x) = (ej,c1e1) + -+ (ej, crer) = ci(es, er) + -+ (e, er) = ¢

goboboobooobooobooobgon

ugobdbl <e,---,ee>00000000000000
a’ =a— (e1,a)e; — (ez,a)ex — -+ — (ex,a)ex

0000¢ =00000000<ey,-++,e >000000000000
00000000a #0 |a/|| #00000000< eq,-++ ,ex > 00
000000000000

(eira’) = (ei,a) — (e;,a)(e;,e;) = (e;,a) — (ej,a) =0
D0d0000e'0<e,-+-,ep>0000000000000000

’

0000 exr = & 00000< eq,--+ sexexts >0000000
0000000000000000000000000000000000
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